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# 60 B HERF—bE—(SI) (2000m)
MifT H H 2014 4 6 H 4 H
G PITVLVRR 3%
AHEE ER fhE56kg 4Eb4kg
B b 4200 754 1470 71y 840 7 420 7 210 51
MR 2014 4 6 H 1 H
B 25 4 M | B | TR ¥ A E 4
1 N — 2Tk 3| ZRPME | KIE Al 76,500,000
2 H—FEL — 3 [ JIEIE | G A2 22,180,000
3 RANATZHF T LA 3 IEIE | M A2 18,484,000
4 RZa =7 3 BAE | G A2 17,950,000
5 I IRBIR—T 4 30 | ANAE | Wfn B1 13,390,000
6 TRVX T G — 3 | xR B1 13,127,000
7 Fv bt —7 M3 | ERHIE | KIF B2 11,500,000
8 A=A — A g3 | AEEHE | K B2 9,050,000
9 )—=XT 4 3 | KRR | G 3 8,616,000
10 S VA% 3 | IE—| WG A2 18,270,000
11 T7AY—TV A B3 | NAE | N A2 16,665,000
12 T I NT M3 | JERME | KIF Bl 15,540,000
13 F A m B30 )| S B2 11,100,000
14 T —)V) 3 | AR | G B2 9,775,000
15 YL LT J— A 3 | ETHEE | K 3 8,217,000
16 VagFx 3 | FHH R 3 7,650,000
17 TAT ARy —T B30 | ANAE | BN 3 7,185,000
18 TAF 2 g3 | AR K 3 7,000,000
19 ValTy A — B3| PR KJF 3 6,795,000
20 VT UIRA 3| R K 3 6,775,000
21 V—RATHRay B3 | ARIEN | G 3 6,700,000
22 K AIRT e — B3| EEHDEE | ORI 3 6,625,000
23 Uf—— 3 | MRBEZ | IRy 3 6,600,000
24 PAIN=N2/Z M3 | Uy | KO 3 6,490,000
25 )T RAY 3 | AR RN 3 5,984,000
26 TN — T 7 3| HEFE | G 3 5,939,000
27 e S = 3 | AR RN 3 5,510,000
28 Va7 ) FA ¥ 3 HH2E | )1 3 5,166,000
29 A= TV )L 3 BARE | XIF 3 4,635,000
30 VATl — B3 | )IE— | S 3 4,416,000
31 YT ) Fara 3 | EBER | K 3 4,300,000
32 V=T ATV A #3 | A EFE | KO 3 4,115,000
33 AyRFy 7 B3 FH2E | )1 3 4,098,000
34 oA Y /L) =T ¢ B3| REFE | G 3 3,852,000
35 7 ) — A 3| BRI 3 3,805,000
36 == 3 | 8RR KO 3 3,455,000
37 RF L B3 | EEEE | KO 3 3,450,000
38 7o IETR 3| R I 3 3,418,000
39 TN —X 3 | EBER | K 3 2,500,000
40 T AT YR — )L 3| EBER | KIF 3 1,820,000
41 T—TRAL T 3| BT ORI 3 600,000
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